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- >?<E4=<5 ?>>474F5?5= < >D<F5D<56 >F5=<64=<O >><?5F5=F<= =4 D47?<G=OE MF4?4E <E 
D>D<<D>64=<O, >?<E4=<5 L>4? >F5=<64=<O;

- F<?>6O5 >>=FD>?L=O5 7444=<O <?< <=O5 <4F5D<4?O, =5>5E>4<<O5 4?O >F5=>< 7=4-
=<=, G<5=<=, =46O>>6 < (<?<) >?OF4 45OF5?L=>EF<, E4D4>F5D<7GNM<5 MF4?O D>D<<D>64=<O 
>><?5F5=F<= 6 ?D>F5EE5 >E6>5=<O >5D47>64F5?L=>= ?D>7D4<<O;

- <5F>4<G5E><5 <4F5D<4?O, >?D545?ONM<5 ?D>F54GDO >F5=<64=<O 7=4=<=, G<5=<=, 
=46O>>6 < (<?<) >?OF4 45OF5?L=>EF<, E4D4>F5D<7GNM<E MF4?O D>D<<D>64=<O >><?5F5=F<=.

$>D<4 ?D><56GF>G=>= (?> <F>74< <7GG5=<O >GDE4) 4FF5EF4F<< 3 M>74<5=.
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4) >E=>6=4O ?<F5D4FGD4:

5) 4>?>?=<F5?L=4O ?<F5D4FGD4:

6) <=D>D<4F<>==O5 E?D46>G=O5 E<EF5<O

https://ulsau.ru/upload/documents/infsystem_library.pdf 

1. �4KGD<A, �. �.  �A4?<; CDB<;6B8EF69AAB-IB;S=EF69AAB= 89SF9?PABEF< 46FBFD4AE-
CBDFAOI BD74A<;4J<= : GK95AB9 CBEB5<9 8?S 6G;B6 / �. �. �4KGD<A. 4 4-9 <;8., <ECD. < 8BC. 4 

 BE>64: �;84F9?PEF6B 2D4=F, 2023. 4 296 E. 4 (�OEL99 B5D4;B64A<9). 4 ISBN 978-5-534-

10814-9. 4 &9>EF : Q?9>FDBAAO= // "5D4;B64F9?PA4S C?4FHBD@4 2D4=F [E4=F]. 4 URL: 

https://urait.ru/bcode/515233  

2.  BDB;, %.  .   9FB8B?B7<S <EE?98B64A<= 6 F9IA<K9E>B= Q>EC?G4F4J<< 46FB@B5<-
?9=: GK95A<> 8?S 6G;B6 / %.  .  BDB;. 4  BE>64 : �;84F9?PEF6B 2D4=F, 2023. 4 186 E. 4 

(�OEL99 B5D4;B64A<9). 4 ISBN 978-5-534-14089-7. 4 &9>EF : Q?9>FDBAAO= // "5D4;B64F9?P-
A4S C?4FHBD@4 2D4=F [E4=F]. 4 URL: https://urait.ru/bcode/518674  

3. %<EF9@O, F9IAB?B7<< < BD74A<;4J<S GE?G7 6 46FB@B5<?PAB@ E9D6<E9 / D98. �. !. $9-
@9AJB6. -  .: �>489@<S, 2013. - 480 E. 

(76 Q>;9@C?SDB6) 

4. 1>BAB@<>4 < BD74A<;4J<S 46FBFD4AECBDFAB7B CD98CD<SF<S: GK95A<> < CD4>F<>G@
8?S 6G;B6 / �. �. �G8D<A4 [< 8D.] ; CB8 D984>J<9= �. �. �G8D<AB=. 4  BE>64 : �;84F9?PEF6B 
2D4=F, 2023. 4 268 E. 4 (�OEL99 B5D4;B64A<9). 4 ISBN 978-5-534-00943-9. 4 &9>EF : Q?9>-
FDBAAO= // "5D4;B64F9?PA4S C?4FHBD@4 2D4=F [E4=F]. 4 URL: https://urait.ru/bcode/511609  

5.  <FDBI<A, !. !.  $9@BAF < GF<?<;4J<S A4;9@AOI FD4AECBDFAB-F9IAB?B7<K9E><I ED98EF6: BD74A<-
;4J<S < F9IAB?B7<< : GK95A<> 8?S 6G;B6 / !. !.  <FDBI<A, �. #. #46?B6. 4  BE>64: �;84F9?PEF6B 2D4=F, 
2023. 4 571 E. 4 (�OEL99 B5D4;B64A<9). 4 ISBN 978-5-534-13279-3. 4 &9>EF: Q?9>FDBAAO= // "5D4;B64-
F9?PA4S C?4FHBD@4 2D4=F [E4=F]. 4 URL: https://urait.ru/bcode/515377  

6. �4KGD<A, �. �.   4D>9F<A7 A4 46FB@B5<?PAB@ FD4AECBDF9: GK95AB9 CBEB5<9 8?S 6G-
;B6 / �. �. �4KGD<A. 4 3-9 <;8., <ECD. < 8BC. 4  BE>64: �;84F9?PEF6B 2D4=F, 2023. 4 208 E. 
4 (�OEL99 B5D4;B64A<9). 4 ISBN 978-5-534-12343-2. 4 &9>EF: Q?9>FDBAAO= // "5D4;B64-
F9?PA4S C?4FHBD@4 2D4=F [E4=F]. 4 URL: https://urait.ru/bcode/515234  

 1. Петряков, С.Н. Автосервис и фирменное обслуживание автомобилей / С.Н. 
Петряков. М.Е. Дежаткин, А.А. Хохлов - Димитровград: Технологический институт - 
филиал УлГАУ, 2023 - 44 с.

https://moodle.ulsau.ru/course/view.php?id=11036
https://www.iprbookshop.ru/115013.
https://www.iprbookshop.ru/89848.html
http://www.iprbookshop.ru/22391
http://www.iprbookshop.ru/45022
https://www.iprbookshop.ru/94328.html
http://www.iprbookshop.ru/15712
https://ulsau.ru/upload/documents/infsystem_library.pdf
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4>EFG?4. 3   http://www.edu.ru, E6>5>4=O=. 3 �47?. E M>D4=4. 3 /7. DGE.

3. �=D>D<4F<>==4O E<EF5<4 «�4<=>5 >>=> 4>EFG?4 > >5D47>64F5?L=O< D5EGDE4<»
[-?5>FD>==O= D5EGDE]. 3 $56<< 4>EFG?4. 3  http://window.edu.ru, E6>5>4=O=. 3 �47?. E M>D4=4. 
3 /7. DGE.

4. $545D4?L=O= F5=FD <=D>D<4F<>==>->5D47>64F5?L=OE D5EGDE>6 [-?5>FD>==O= D5-

EGDE]. 3 $56<< 4>EFG?4. 3  http://fcior.edu.ru, E6>5>4=O=. 3 �47?. E M>D4=4. 3 /7. DGE.
5. �<=<EF5DEF6> E5?LE>>7> E>7O=EF64 $$ [-?5>FD>==O= D5EGDE]. 3 $56<< 4>EFG?4. 3

http://mcx.ru/, E6>5>4=O=. 3 �47?. E M>D4=4. 3 /7. DGE.
6. �4GG=4O M?5>FD>==4O 5<5?<>F5>4 eLIBRARY.RU [-?5>FD>==O= D5EGDE]. 3 $56<<

4>EFG?4. 3 http://elibrary.ru/ , E6>5>4=O=. 3 �47?. E M>D4=4. 3 /7. DGE.
7. %5?LE>>E>7O=EF65==4O M?5>FD>==4O 5<5?<>F5>4 7=4=<= [-?5>FD>==O= D5EGDE]. 3

$56<< 4>EFG?4: http://www.cnshb.ru/akdil/ , E6>5>4=O=. 3 �47?. E M>D4=4. 3 /7. DGE.
8. &5=FD4?L=4O =4GG=4O E5?LE>>E>7O=EF65==4O 5<5?<>F5>4 $>EE5?LE>74>445-<<<

[-?5>FD>==O= D5EGDE]. 3 $56<< 4>EFG?4: http://www.cnshb.ru/ , E6>5>4=O=. 3 �47?. E M>D4=4. 3
/7. DGE.

9. �=D>D<4F<>==>-E?D46>G=O= ?>DF4?. �D>5>F $>EE<=E>>= 7>EG44DEF65==>= 5<5?<>-
F5>< 4?O <>?>456< [-?5>FD>==O= D5EGDE]. 3 $56<< 4>EFG?4:  www.library.ru , E6>5>4=O=.  3
�47?. E M>D4=4. 3 /7. DGE.

https://minobrnauki.gov.ru/
http://www.edu.ru/
http://window.edu.ru/
http://fcior.edu.ru/
http://mcx.ru/
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http://www.cnshb.ru/akdil/
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�4<<5=>64=<5 ?><5M5=<= 4?O ?D>6545=<O 6E5E 6<4>6 GG55=>= 
45OF5?L=>EF<, ?D54GE<>FD5==>= GG55=O< ??4=><, 6 F>< G<E?5 
?><5M5=<O 4?O E4<>EF>OF5?L=>= D45>FO, E G>474=<5< ?5D5G=O 

>E=>6=>7> >5>DG4>64=<O, GG55=>-=47?O4=OE 
?>E>5<= < <E?>?L7G5<>7> ?D>7D4<<=>7> >55E?5G5=<O

�4D5E (<5EF>?>?>65=<5) 
?><5M5=<= 4?O 
?D>6545=<O 6E5E 6<4>6 
GG55=>= 45OF5?L=>EF<, 
?D54GE<>FD5==>= 
GG55=O< ??4=>< (6 E?GG45 
D54?<74F<< 
>5D47>64F5?L=>= 
?D>7D4<<O 6 E5F56>= 
D>D<5 4>?>?=<F5?L=> 
G>47O645FEO 
=4<<5=>64=<5 
>D74=<74F<<, E >>F>D>= 
74>?NG5= 4>7>6>D)

'G55=4O 4G4<F>D<O 4?O ?D>6545=<O 74=OF<= ?5>F<>==>7> F<?4, 
7DG??>6OE < <=4<6<4G4?L=OE >>=EG?LF4F<=, F5>GM57> >>=FD>?O < 
?D><56GF>G=>= 4FF5EF4F<< 7 210 «�5>F<>==4O 4G4<F>D<O»
�><??5>F GG55=>= <555?< 4?O ?D5?>4464F5?O,
�><??5>F GG55=>= <555?< 4?O >5GG4NM<EEO =4 80 <5EF, 
�G?LF<<54<==>5 >5>DG4>64=<5:
�=F5D4>F<6=4O 4>E>4 SCREEN MEDIA I-82SA-1LF; �>=<F>D «LG-

19»S19A10N-1LF; �D>5>F>D BenQ MX 813 ST-1 LF; �>E>4 
4G4<F>D=4O 3-E E5>F<>==4O. %<EF5<=O= 5?>> «Formoza»-1LF., 
�455?L HDMI 15 < G5D=O= 3 1 LF., �>?>=>< SVEN SPS-611S - 1 LF;
�?5D4F<>==4O E<EF5<4: Calculate Linux; �=F5D=5F 5D4G75D: Firefox;
�D<E=>5 ?D<?>65=<5: LibreOffice; �G?LF<<54<4: SMplayer;
�D4D<G5E><= D544>F>D: gThumb

433511,  

'?LO=>6E>4O >5?4EFL,
7. �<<<FD>67D44, 
G?. �G=5OL564, 4.310

'G55=4O 4G4<F>D<O 4?O ?D>6545=<O 74=OF<= ?5>F<>==>7> F<?4, 
74=OF<= E5<<=4DE>>7> F<?4, 7DG??>6OE < <=4<6<4G4?L=OE 
>>=EG?LF4F<=, F5>GM57> >>=FD>?O < ?D><56GF>G=>= 4FF5EF4F<< 7 
32 «�5M5F5E=<G5E><5 4<EF<??<=O»
�><??5>F GG55=>= <555?< 4?O ?D5?>4464F5?O,
�><??5>F GG55=>= <555?< 4?O >5GG4NM<EEO =4 28 <5EF; �><??5>F 
=4?O4=OE ?>E>5<= ?> <=65=5D=>-F5E=<G5E><< 4<EF<??<=4<.

%F5=4 ?45>D4F>D=O= ?> >E=>64< M?5>FD>=<>< �&&-01- 2 LF., 
$54G>F>D 2-E E>>D>EF=>= F<?<=4D<G5E><= 3 1LF., $54G>F>D 2-E 
G5D6OG=O= 3 1LF., $54G>F>D >>=<G5E><= 3 1LF., $54G>F>D G5D6OG=O= 
3 1LF., �45>D 45F4?5= <4L<= 3 1LF., �G?LF<<5FD 3 1LF.,
,F4=75=F<D>G?L 3 1LF., �<>D><5FD 3 1LF., �=4<>4F>D=4O 7>?>6>43
1LF., %F>=>4 4?O <=4<>4F>D43 1LF., �GFD><5D3 1LF., &65D4><5D 
«&-��-2» 3 2 LF., �><??5>F ��� "�F><M<>"30.03.2008 3 1LF., 
�??4D4F ??47<5==O= «�?474D»-1 LF., -?5>FD>?5GL ?45>D4F>D=4O 3 1

LF., �4<5D4 F<DD>64O > <<>D>E>>?G 3 1 LF., �<>D>E>>? 
<5F4??>7D4D<G5E><= 3 1 LF., �<>D>E>>? <5F4??>7D4D<G5E><= 
�?LF4<< �5F 3 1 LF., �5GL �GD5?L=4O ��-12 �1-1 LF., 
&D4=ED>D<4F>D &%3- 1 LF., ,>4D <5F4??<G5E><= 2- EF6>DG4FO= 
«AIKO»1 3 LF.
�G?LF<<54<==>5 >5>DG4>64=<5:
�D>5>F>D ViewSonic PJD5123 (?5D5=>E=>=) - 1LF, �>GF5G> Samsung

(?5D5=>E=>=) - 1LF, ->D4= 4?O ?D>5>F>D4 SCREEN MEDIA =4 
FD5=>75 (?5D5=>E=>=) - 1 LF.

433511,  

'?LO=>6E>4O >5?4EFL,
7. �<<<FD>67D44, 
G?. �G=5OL564, 4.310



�?5D4F<>==4O E<EF5<4: Calculate Linux;
�=F5D=5F 5D4G75D: Firefox;
�D<E=>5 ?D<?>65=<5: LibreOffice;
�G?LF<<54<4: SMplayer;
�D4D<G5E><= D544>F>D: gThumb.�DE<64F>D 7-zip

�><5M5=<5 4?O E4<>EF>OF5?L=>= D45>FO 7 36 «�><?LNF5D=O= 
>?4EE»
�><??5>F GG55=>= <555?< 4?O ?D5?>4464F5?O,
�><??5>F GG55=>= <555?< 4?O >5GG4NM<EEO =4 38 <5EF;
�=F5D=5F->4<5D4 D-Link DCS-910 12.10.2009 3 1 LF.,
%<EF5<=O= 5?>> «Colors»-4LF., �>=<F>D «Samsung»- 6 LF., 
�>=<F>D «LG»-6 LF.
�D<E=O= ?4>5F Microsoft Office Professional Plus 2007 Rus

�DE<64F>D 7-zip.

Microsoft Open License 62300500ZZE0906 >F 14.06.20077.

433511,  

'?LO=>6E>4O >5?4EFL,
7. �<<<FD>67D44, 
G?. �G=5OL564, 4.310

�><5M5=<5 4?O E4<>EF>OF5?L=>= D45>FO (G<F4?L=O= 74? 
5<5?<>F5><)
�><?LNF5DO: Intel(R) Celeron(R) CPU 1.70GHz / ��' 384Mb - 4 LF. 
E 6OE>4>< 6 E5FL �=F5D=5F, EF>?O < EFG?LO =4 80 ?>E44>G=OE <5EF.
�D<E=O= ?4>5F Microsoft Office Professional Plus 2007 Rus

�DE<64F>D 7-zip.

Microsoft Open License 62300500ZZE0906 >F 14.06.20077.

�D>7D4<<=>5 >55E?5G5=<5 «�D>7D4<<=4O E<EF5<4 4?O >5=4DG65=<O 
F5>EF>6OE 74<<EF6>64=<= 6 GG55=OE < =4GG=OE D45>F4E 
«�=F<??47<4F.�'�» . �>7>6>D 7 18 >F 28 <4O 20197.

433511,  

'?LO=>6E>4O >5?4EFL,
7. �<<<FD>67D44, 
G?. �G=5OL564, 4.310

�><5M5=<5 4?O ED4=5=<O < ?D>D<?4>F<G5E>>7> >5E?G6<64=<O 
GG55=>7> >5>DG4>64=<O 7 64
�555?L 4?O ED4=5=<O. %N5<=>5 < 6E?><>74F5?L=>5 >5>DG4>64=<5, 
=4E>4OM55EO =4 ED4=5=<< < >5E?G6<64=<<.

433511,  

'?LO=>6E>4O >5?4EFL,
7. �<<<FD>67D44, 
G?. �G=5OL564, 4.310

�><5M5=<5 4?O ED4=5=<O < ?D>D<?4>F<G5E>>7> >5E?G6<64=<O 
GG55=>7> >5>DG4>64=<O (>><?LNF5D=>= F5E=<><) 7 32a

%F5??46-1 LF., ?>?>4 1 LF., EF>?-8 LF., 
=>GF5G> Samsung NP300 E5C - 1 LF., 
�?5D4F<>==4O E<EF5<4: Calculate Linux

>D<E=O= ?4>5F LibreOffice 5.3 (&5>EF>6O= ?D>F5EE>D (LibreOffice 
Writer), -?5>FD>==4O F45?<F4 (LibreOffice Calc), �D575=F4F<O 
(LibreOffice Impress), $544>F>D D<EG=>>6 (LibreOffice Draw), �47O 
44==OE (LibreOffice Base))
�DE<64F>D 7-zip

�5DE>=4?L=O5 >><?LNF5DO ?D>F5EE>D Intel(R) Pentium (R) CPU

3GHz / ��' 1,49Gb 3 6 LF.
�?5D4F<>==4O E<EF5<4: Calculate Linux

>D<E=O= ?4>5F LibreOffice 5.3 (&5>EF>6O= ?D>F5EE>D (LibreOffice 
Writer), -?5>FD>==4O F45?<F4 (LibreOffice Calc), �D575=F4F<O 
(LibreOffice Impress), $544>F>D D<EG=>>6 (LibreOffice Draw), �47O 
44==OE (LibreOffice Base))
�DE<64F>D 7-zip

433511,  

'?LO=>6E>4O >5?4EFL,
7. �<<<FD>67D44, 
G?. �G=5OL564, 4.310



$45>G4O ?D>7D4<<4 E>EF46?5=4 6 E>>F65FEF6<< E FD55>64=<5< $��% �� ?> =4?D46?5-
=<N 23.03.03 «->E??G4F4F<O FD4=E?>DF=>-F5E=>?>7<G5E><E <4L<= < >><??5>E>6», GF65D-
645==O= ?D<>47>< �<=<EF5DEF64 >5D47>64=<O < =4G>< $>EE<=E>>= $545D4F<< >F 07 467GEF4 
2020 7. N 916. �D>D5EE<>=4?L=O= EF4=44DF 13.001 %?5F<4?<EF 6 >5?4EF< <5E4=<74F<< E5?L-
E>>7> E>7O=EF64, GF65D645==O= ?D<>47>< �<=<EF5DEF64 FDG44 < E>F<4?L=>= 74M<FO $>EE<=-
E>>= $545D4F<< >F 02 E5=FO5DO 2020 7. 7 555= 
(�5>5M5==4O FDG4>64O DG=>F<O D6 �D74=<74F<O >5E?G6<64=<O < M>E??G4F4F<< E5?LE>>E>-

7O=EF65==>= F5E=<><, FDG4>6O5 DG=>F<<: D/01.6 �D74=<74F<O F5E=<G5E>>7> >5E?G6<64=<O < 
D5<>=F4 E5?LE>>E>7O=EF65==>= F5E=<>< 6 >D74=<74F<<; D/02.6 �D74=<74F<O M>E??G4F4F<< 
E5?LE>>E>7O=EF65==>= F5E=<>< 6 >D74=<74F<<; D/03.6 �D74=<74F<O D45>FO ?> ?>6OL5=<N 
MDD5>F<6=>EF< F5E=<G5E>>7> >5E?G6<64=<O < M>E??G4F4F<< E5?LE>>E>7O=EF65==>= F5E=<><)

 $45>G4O ?D>7D4<<4 >4>5D5=4 =4 74E544=<< <5F>4<G5E>>7> E>65F4  <=65=5D=>-
технологического D4>G?LF5F4 «_15_»_<4O_2023 7>44, ?D>F>>>? 7 _10_ 

$5F5=75=F: �.&.�., ��&��& Петряков С.Н.
�D>7D4<<4 D4EE<>FD5=4 =4 74E544=<< >4D54DO «->E??G4F4F<O <>5<?L=OE <4L<= 
< E>F<4?L=>-7G<4=<F4D=OE 4<EF<??<=» «_15_»_<4O_2023 7>44, ?D>F>>>? 7 _10_.

�6F>D: >.F.=., 4>F5=F Хохлов А.А.


